
Multiplication Pâques (J)Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/2554 54 78 39 44× 86 × 54 × 38 × 45 × 51
29 80 71 60 60× 13 × 66 × 93 × 81 × 55
13 49 26 11 21× 27 × 67 × 31 × 69 × 33
56 80 86 91 98× 49 × 32 × 30 × 90 × 95
97 45 81 73 77× 42 × 75 × 36 × 29 × 34
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Multiplication Pâques (J) RéponsesObtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/2554 54 78 39 44× 86 × 54 × 38 × 45 × 514644 2916 2964 1755 2244
29 80 71 60 60× 13 × 66 × 93 × 81 × 55377 5280 6603 4860 3300
13 49 26 11 21× 27 × 67 × 31 × 69 × 33351 3283 806 759 693
56 80 86 91 98× 49 × 32 × 30 × 90 × 952744 2560 2580 8190 9310
97 45 81 73 77× 42 × 75 × 36 × 29 × 344074 3375 2916 2117 2618
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